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1. (1) 5-3x(=2)=5-(-6)=5+6=11

(2) 36+ (=9)+(-2)> = (<4)+4=0

(3) é_(_§j+é:E_(_zjxizé_(_z)zi_,_z:g
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(4) 5—4x(1—3)+2:5—4x(—2)x%:5—(—8)><%=5—(—4)=5+4:9
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2. (1) dxy+=x=4xyx— =6y
3 2x

(2) (2x+5)—(3x-2)=2x+5+3x+2=5x+7
(3) 22x—y)=3(x+y) =4x—-2y-3x—-3y=x-5y

(4) 2x+y x—y 52x+y)-3(x-y) 10x+5y-3x+3y TIx+8y
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(5) (2a)3 x 3a +4a2 _ 2 xoa 6a2
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(6) 12ab2+—ab>< —a= 12ab2>< 2 24 25ab
15 9 4ab 9

) (842~ 10ab) = 24 = 4a — 5b
(8) (2x—3)% = 4 — 12x+9
(9) (x+5y)(x-5y) = x2—25y2

(10) (x4 1) +4) = (x=3)w—2) = x>+ Sc+4— (2 —5r+6) = 1002

3. (1) 241602 = Ay+n@dy-n £ =-(2-16?)
——(x+4y)(x-4y)
(2) —6x+x>+9 =x"—6x+9 = (x—3)°

(3) —3x2y— 3xy+6y = —3y(x2 +x—2> =3yx-1(x+2)
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http://kore.mitene.or.jp/~tohru/mokuji-3.htm
http://kore.mitene.or.jp/~tohru/siki-5m.pdf

1) V168 5T+ (+/6) = - |2 = /2

(2) /50 +24/3 /27 -/18 = 5¢/2+2/3-3,/3-3/2=2/2-4/3
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(1) FE 1=t (2) =0.2x+1 = 0.4x-2.6
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dy—6=x+ 12 —2x+ 10 = 4x - 26
3x = 18 —6x = =36
x=6 x=6
X+2y=-T......... D
(3) £—Z=4 ......... @ (4) x2:5x+24
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2x -5y =40 (x+3)(x-8)=0
—) 2x+4y =-14
x=-3, 8
-9y = 54
y=-6
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x=12-7=5
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